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B IR 1 4 EL At v A ) 10kV5623 K % 2% 110KV - A H 9786.1 771.98
BT PR 7 R LA HL A 10kV 8567 e 2k 35KV A AZ FE il 5456 895.2
e A} o g i A HL 2 ) 10kV8701F1 4} £k 35KV B 7% H il 8487 474.9
BT IR P LA P A ) 10kV5087K 4 B 45 110KV %1 J5 AR F i 5248.1 1858.27
i IR 1 4 L At EL A 10kV807HL . 5 4% 35K VIR I AL H il 5248.1 456.38
bz i} PR 7 R LA HL A ] 10kV512 K HF 2 110KV JA 2 AL FL sl 10738.7 213.16
BT PR P R LA L 2 ) 10k V529 4k £k 110kV B B =A% i il 8487 1719.9
B3R ) 47 B L it EfL A ] 10KV 51T 1T 2k 110KV %1 J5E AR F i 10738.7 1477.66
BT Do) P R LA L 2 ) 10kV5606%4 74 £k 110KV 4 17 A% Ha 3 5456 457
BT R 1 4 L At EL A ) 10kV5137% A BH 25 110KV JA 2 AL Pl 8487 2666.09
i IR 1 4 L it v 2 ) 10kV 59635 FH — [m] £k 110KV X1) J5 AR H 3 5456 2090.9
B PR 7 kLA HL A 10kV593 1= 2k 110KV %1 J5E AR F i 6183.4 707.41
i IR 1 4 L it v 2 ) 10KV 5164 F% I £& 110kV JX PR I A% R il 9093.3 944.04
e il ) 47 3 L it ffL A ] 10KV 5124 Sk 3 45 110KV %1 J5E AR F i 6322 966.7
BT Do) P R LA L 2 ) 10kV583 4 1 2k 110kV JXU B I A% R il 8487 1854.99
e il ) 4 3 it EfL A ] 10kV5626 7 B £k 110KV HE 728 F i 6183.4 896.62
BT Do) P R LA L 2 ) 10kV/ 5884k i 2k 110kV JXU PR I A% R il 2598.1 1235.88
BT R 1 4 L At EL A ) 10kV5114EFH 2k 110KV JA 2 AL FL il 10738.7 2232.16
i IR 1 4 L At e A ) 10kV56134E 2% 110KV A H 10738.7 3525.96
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S i ) 47 B L it EfL A ] 10kV56117: XS 2k 110KV HE 728 F i 10738.7 0
St A} IR 1 4 EL At e ) 10kV527 K F £k 110KV 7 HL AR HL i 8487 0

S i ) 47 B L it EfL A ] 10kV5054 7t 2k 110KV %1 J5E AR F i 4589.9 0

e At} o ey i A HL 2 ) 10kV853 77t E £k 35KV J5 A A% H il 8487 0
BT IR 7 3k LA HL A ] 10kV84675 A 2k 35KV AR il 5456 0
BT Do) P R LA L 2 ) 10kV501 Tk £k 110KV X1 J57 A% H 3 10738.7 0
b)) oA o kLA L 2 ] 10kV5942£ 5K 2 110kV/ X1 J57 A8 FiL 3 8487 0
s o ey i A HL 2 ) 10kV5074k T2k 110KV X1 J57 A% H 3 5802.4 0
BN T FE] ) 4 4 L 1 e 2 ] 10kV873111JiK £k 35KV AR il 8487 0
B Epag 3=%¢ 3 VA 10kV899 2 H £k 35KV HL B3 AR Ha vl 8660.3 722.34
bz i} W 75 5 B A 10kV5023E R 2 110KV P8 {5 4% H 3 5196.2 1225.36
BT W 75 2 B A 10KV558 5% A £& 35kV AR H il 4676.5 841.8
e ] W3 2R B L ] 10kV 50645 A 2% 110k V 2 ] A8 FiL 3y 6668.4 2416.26
i W 5 2 LAt e A ] 10kV8977FHF £k 35KV HL B3 AR Ha vl 4676.5 295.4
BT W /5 5 B A 10kV833 it 2k 35KV X A AR FE il 6668.4 711.52
BT W 75 2 B A 10kV 59067 5] 2k 110kv ﬁfk f ZEL 4676.5 895.1
BT W /5 5 B A 10kV868IL LA £ 35KVt AR L il 7534.4 759.32
B T W 5 25 A H A ] 10kV802 R AR 45 35KVl AR H b 6148.8 276.44
BT W3 2R B L ] 10kV5818% R £k HOWﬁT&iﬁ;@E o 8833.5 1032.3
BT W 75 2 B 2 10kV501 X1 1 2k 110KV 5% Ji] A% H, 3 5196.2 601.06
BT W3 ok B L ] 10kV58153 %< £k HOWﬁT&iﬁ;@E o 8833.5 1276.3
i W 5 2 Lt e A ] 10kV5363Ht 2% 110KV P4 i AL H 10392.3 54.74
BT X 3 2 EL A B A ] 10kV5915 i fif 11 £ 110kV7§7§|§ f e 6148.8 1710.88
BT W 5 2 Lt e A ] 10kV503# 4k 2k 110KV P4 i AL H 4676.5 999
BT W /5 5 B A ] 10kV 8044 ik G 45 35KV I 14 A% Fe il 5196.2 1112.36
i W 5 2 Lt e A ] 10kV 5021 2k 110KV 7 ] AR H 6668.4 761.32
B3R W 75 o E it e A 7] 10kV5035% 4t 2k 110KV 2 AT AL H 3l 4330.1 528.38
BT W 5 25 A H A ] 10kV5810 K = £k OV TR 8313.8 2022.44
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BT W /5 5 B A 10kV807#% T2k 35KV X A AR FE il 6668.4 676.02
IR ¥ 75 2 Bt e A 7 10kV 8951k BH £k 35KV HL B3 AR Ha vl 8660.3 380.64
BT W /5 5 B A 10kV888 2 HiZk 35kV 5L Fj A% L il 4589.9 908.72
B W 5 2 Lt e A ] 10kV8017 4+ £k 35KVl 2 A2 H il 4676.5 1625.77
BT W3 2R B L ] 10kV556r4 HL 28 110KV 2 V] A% F i 6581.8 904.44
B W 5 2 Lt e A ] 10kV564 T 1V & 35kV F EAR ik 6581.8 844.44
S i W 75 o E it e A 7] 10k V5545 R £k 110KV 2 AT AZ H 3l 4330.1 880.07
IR ¥ 75 2 E it e A 7] 10kV5819F S 2k 110k ﬁf" ;ﬁ%/ﬁ B 6148.8 2057.74
S i W 75 o E it e A 7] 10kV 829 Jii £k 35Kk VIE AR H il 5196.2 1759.66
B T W 5 5 A H A\ ] 10kv803 Kk 35KVl AR H b 4676.5 1530.1
BT W 5 2 Bt e A ) 10kV 5638 i 2k 35KV F AR H il 4676.5 847.9
i W 5 2 LAt e A ] 10kV856F H- 2k 35KVl 2 AL H, il 6148.8 1015.4
BT W /5 5 B A 10kV826iH 2k 35KV I 14 A% FeL il 6148.8 570.44
By WX 3 5 B B ] 10kV58033k 4k £k 110k ﬁf" ;ﬁ%/ﬁ B 6148.8 1275.34
BT W /5 5 B A 10kV 858t AT £k 35KVt 5 A% i il 4676.5 1252.5
BT WX 73 5 B Ak L ] 10kV5813 R £ £k 110k ﬁik ﬁ%ﬁ i 8660.3 1413.94
BT W /5 5 B A 10kV802 7 R 2k 35KV HL B AR H i 8660.3 152.24
BT W 75 2 B 2 10kV562 51 HL 2k 35kV AR H il 5196.2 990.96
BT W /5 5 B A 10kV894-T- J5i 2% 35KV HL B AR H i 7274.6 230.58
i W 5 2 LAt e A ] 10kV805F1 A+ £k 35KV 5 F AL H il 4849.7 802.16
BT W /5 5 B A ] 10kV8247: T2 35KV I 14 A% Fe il 6581.8 824.04
IR W 75 2 E it e A 10kV801HR i 2k 35KV 5 F AL H il 6928.2 1725.66
BT W 75 5 ELA A ] 10kV806 = S £k 35KV X A AR FE il 6668.4 404.72
i W 5 2 Lt e A ] 10kV834db3k 2k 35KV AR HA bl 8833.5 1310.39
e il W 75 o E it e A 7] 10kV/53735 F £k 110KV 75 7542 F i 5196.2 1500.26
BT WX 73 5 B L A ] 10kV591271 Y5 £k 110k ﬁf" f e 6148.8 2333.11
BT W3 2R B L ] 10kV5913 P fif T £k 110kv7j7'?f e 8833.5 1314.19
i W 5 2 Lt e A ] 10kV 828l — 2 35KV AR H vl 4070.3 866.24
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BN Y B=% 3 | 10kV5820 1L R £k HOWﬁT&iﬁ;@E B 6148.8 2119.54
IR ¥ 75 2 Bt e A 7 10kV5807/f 7K /' 1 17 110kv ﬁiﬁ%% B 8313.8 3190.24
BT I 5 2 Bt e A ) 10kV5903 /5 SR 2k 110kv7j7'?f B 6755 2140.67
SER I 77 4 {8 24 7 10kV58011 57 110kv ﬁ?ﬁ%ﬁ & 73266 215.68
BT I 5 2 Bt e A ) 10kV805 % 3L £k 35KV X A AR FE il 9578.2 333.86
B W 5 2 Lt e A ] 10kV803#% 2 £k 35KV 5 F AL H il 4849.7 1124.76
B W /5 5 B A 10kV58067t £+ 2% 110kV737|§<;;ﬁ9§ 2 10652.1 768.88
BT W 75 2 B A ] 10kV 85778 FK A+ 2% 35KVt 5K A% L il 3550.7 218.36
| R A 10KV 802 K Tk TV R 8313.8 787,24
BT W 75 2 B A ] 10kV854 T i 2k 35KVl 2 AL H il 6928.2 1091.24
BT W 75 5 B A 10kV803 /5 & 35KV I 14 A% FeL il 6928.2 761.05
B3R ¥ 75 2 E it e A 7] 10kV556 K FH £ 35kV FEAR 8313.8 968.24
BT W /5 5 B A 10kV 8867 F £k 35kV 5L Hj A% L il 5369.4 914.12
BN T W 5 25 A H A ] 10kV 866t 4 G £ 35KVl AR H b 5196.2 391.16
e ] W3 2R B 2 ] 10kV5812F 7K /- 11 [1] 110kv7§7|§;ﬁ9§ EH 8833.5 2217.04
BT WX 73 5 B Ak L ] 10kV 58057 A £k 110k ﬁik ﬁ%ﬁ i 8833.5 1969.6
BT W 5 2 Bt e A ) 10kV557 B A 2 35KV F AR H il 4676.5 1680.4
BT W 75 2 B 2 10kV/ 5343 — 2 110KV 7 75735 H, 3 5196.2 857.96
BT W /5 5 B A 10k V53874 i 1+ 25 110KV PH 5 4% H 3 10392.3 238.64
i W 5 2 LAt e A ] 10kV5597= 1+ £k 35kV AR H il 6148.8 1531.44
BT I 5 2 Bt e A ) 10kV 8054 7K 7R £k 35KV IE AL H il 6668.4 1035.32
IR W 75 2 E it e A 10kV5916- L BE ALK L0kY ﬁiﬁ ZEL 6841.6 2472.18
b= i} W 75 5 ELA A ] 10kV5535¢ £k 2k 110KV S 75 F 35 4156.9 0.02
B T W 5 25 A H A ] 10kV867/)N i 2% 35KVl AL H b 4676.5 0
BT W3 2R B L ] 10kV/559) i 2k 110KV 2% V] A2 F i 6581.8 0
BT W 75 2 B A ] 10kV 80677G i it £; 35KV AR H vl 5196.2 0
bt 4] X o B L 0 ] 10kV5907/5 +£& 110kv7§7|§<f B2 6148.8 0
SEe ! A} ] ) 75 2 E it e A 7 10kV5905X% A\ )Ml 2k LoV TR B2 8660.3 0
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BT W o) = LA A ] 10kV . PY — & 1 £8502 110kV 7R PR AR FL 3y 10652.1 2220.33
B A ) B EL it e A ] 10kVEE 2k 557 110KV P4 B A8 HL i 6703 1154.4
BN T o 5] 2 LA L A ] 10k Vi 5% 2k 4896 35KV JR] JiE A% FE il 5369.4 458.82
B R ) B EL 3t B A ] 10kV 7R R 2564 110KV P4 B A8 HL i 10652.1 571.13
BN T ) 5] 2 LA L A ] 10k V] JiE 75 £::893 35KV JR] JiE A% FE il 6235.4 1388.52
BT oA i) LA v A ) 10kV 7R £ £ 835 35KVt B AR HL 9578.2 1525.96
BN T ) 5] 2 LA L A ] 10kV 75 111 £k 865 35kV AL 7638 i il 6096.8 1337.01
IR A ) 25 EL it e A ] 10kV F 1 £ 5907 110KV /& ‘& HE AR H i 5854.3 1367.14
BN T ) 5] 2 LA L A ] 10kV #14: 834 35KV B AR H b 4763.1 1821.58
B WA ) 5 EL it B A ] 10kV K it £k 804 35KV AR AR il 4936.3 276.04
e i} oA Ji) 25 LA F 0 ) 10kV N FH£k 838 35KV B AR H b 4936.3 1844.39
B A o) LA L A ] 10kVEHT X T £k545 110k VA A2 Hi 7326.6 649.38
B oA Ji) 25 LA F 0 ) 10kVAL AR 2514 110KV 78 B HEAR Ll 9578.2 2327.71
BT oA i) 5 LA v A ) 10kV # %< £ 801 35KV I 5% 1AL H v 6062.2 1753.21
B3R A [ 2 EL 3t B 0 10kV = . = —£k563 110KV 78 B HEAR Ll 6062.2 14.16

i A ) B EL 3t e A ] 10kV 1K £k 884 35KV FH FE AL H, il 4849.7 231.36
BT oA i) 2 EL it B ) 10kV-t B 4 £k849 35KV AR AR FE il 4797.8 1786.04
i WA ) 5 EL it B A ] 10kV 1 #k 2k 866 35k VAL T AL H il 5282.8 1970.54
BT ) 5] 2 LA L A ] 10kV " 3k £ 883 35KV S P A% FeL il 7794.2 280.03
BT A i) - LA L A ] 10kV 43 3 1T 28505 110KV 7R FAA8 Hi 6703 940.1

e il A [ L it e A 7 10kV Tk £k 801 35kV AL 703 i il 5282.8 610.04
i R ) B EL it B A ] 10kV 3% 9 £ 802 35KV E #1748 Ha il 6062.2 2622.06
BN T o 5] 2 LA L A ] 10kVAEFH4: 867 35kV AL 703 i il 5282.8 570.82
BT A i) - LA L A ] 10KVl Ph K47 £k549 110k VA A2 Hi 10444.3 1573.84
beer AT} A [ L it e A 10kV £ 3 £ 5503 110KV A7 ] 28 F i 3464.1 50.38

i R ) B EL 3t B A ] 10kV 7% 11 £k 869 35k VAL TT AL H il 6062.2 1912.66
B oA Ji) 25 L F 0 ) 10kV T B 4513 110KV 78 B HEAR Ll 10444.3 2166.38
BT A i) - LA L A ] 10kV ffi 1 £ 5912 110kV J& £ $E AR i 3 6703 1519
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BT W 5] 5 LA L A 10KV P 2k 511 110KV 78 B AR FL sy 8660.3 2852.44
BT R i) 2 Lt v\ 10kV 4R £5 Tk 28501 110KV A< B H 3 9578.2 1726.76
beegr Rt} WA e 2 EL it LA ] 10KV %< £k 515 110KV 78 B AR FL sy 9353.1 1733.13
B ) i) 5 L fik B A ] 10kV F= ¥ £k 802 35kV AL 76 AR Lk 3810.5 45.7

BT ) 5] 2 LA L A ] 10kV J5 B Tk 28899 35K VAT JER AR H il 3810.5 121.8

2% ] ) i) 5 L fik B A ] 10kV B FA £k 559 110KV P4 B 7% HL vl 10444.3 2714.04
beegr Rt} WA e 2 EL it LA ] 10kV X1 i = 285906 110KV Ji5 B FE AR FL 6062.2 236.26
2% ] ) i) 5 L fik B A ] 10kV = . = P4 £k509 110KV 7R AR Hi 3 6703 1870.7
BT R i) 2 L 3t L\ ] 10kV ALK 2577 110kV A< B8 HL i 10444.3 1648.08
2% ] ) i) 5 L fik B A ] 10kV 75 & £k 576 110KV 7R FEH AR Hi 3 6928.2 1737.46
S i *R) ] LA EL A ] 10kV+ J\ £ 829 35KV HE AR HA il 5282.8 699.54
sy %) ] L E A 10kV | i 4k 5908 110KV Ji5 B HH A7 H vl 6062.2 1923.26
BT R i) 2 L 3t B\ ] 10kV 75 £k 802 35KV 51 5% A% A il 9578.2 2512.46
BT R i) 2 L4t v\ 10kV I P8 7R 2833 35kV 5 B A% A il 4797.8 1703.54
BT o 5] 25 LA L A 10kV 7R A4k 551 110KV B A AR H 3l 9578.2 2823.75
bee! Rt} A ] 5 Lt LA ] 10kV 5 5K H £k5916 110KV J&5 B HE AR HEL 6096.8 1071.74
BT FE] ¥ i) 5 L it R A ) 10kV¥H] Ji& 7R 2897 35K VAT JEG AR H, il 7776.9 901.32
bee! Rt} A ] w2 Lt LA ] 10kV /& # £5919 110kV Ji5 B HE AR f 3k 10444.3 92.84

BT R i) 2 L3t B\ ] 10kV [ [X 12k 876 35KV 51 5% FE A% F il 8954.7 1987.16
BT A ] w2 Lt LA ] 10kVA=F1Zk 575 110KV 7R AR H 3 10444.3 541.44
ST R i) 2 L3t B\ 7] 10kV F 7K METT & [X 26511 110kV A< B8 HL i 11033.2 894.51
BT R i) 2 Lt v A\ 10kV1# F5 £k 873 35KV FB 2K AL il 6980.2 493.25
e il FE] ) i) Lk P 2 ] 10kVA~ S £k823 35KV 3 4 A5 H 4797.8 778.47
IR ) ] 5 L fik B A ] 10kV 4L 7G4k 507 110KV 7R AR Hi 3 5282.8 1551.81
BT R i) 2 L3t B\ 7] 10kV A #K Y 2846 35KV AT AR AR H il 6703 1473.5
IR ) i) 5 L fik B A ] 10kV 5584 I 28 110KV P4 B 7% HL vl 10652.1 2487.98
IE IR ) ] 5 L ik P 2 ] 10kV )i 3k £k 824 35KV HE AR HA il 6062.2 433.54
bee! Rt} A ] w2 Lt LA ] 10kV 1 K ME£R 5504 110KV £ [ 1748 H 3 4936.3 96.04
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BT W o) = LA A ] 10kV FE 75 £k 874 35KV 51 5% A% F il 6062.2 1087.06
s A o) LA L A ] 10kV 78 7 FH £:855 35KV [T A% Hi il 10392.3 0.04
BT o 5] 2 LA L A ] 10kV AR FH 4 856 35KV [N A% FE il 5854.3 0.04
B R ) B EL 3t B A ] 10kVJE I £k5501 110KV A7 [ A% H 4156.9 0.02
BT WA e 2 EL it LA ] 10kVik Ik 26538 110KV A A2 F i 5265.4 0.02
St A} [ o4 i) 25 Lt A 10kV K £ £ 859 35KV [U] JEC AR H, vl 5456 0
BT ) 5] 2 LA L A ] 10kV itk £ 844 35KV IR AR FE il 6062.2 0
B A ) 5 EL it B A ] 10kV 7K Y5 £k 567 110KV P4 B A8 HL i 6062.2 0
BN T ) 5] 2 LA L A ] 10kV X F-4;898 35KV JR] JiE A% FE il 6062.2 0
s A i) LA LA ] 10kV 73 3 —£k573 110KV AR B H 3 6062.2 0
begr AT} ] ) ) L it e A ] 10kV Hi 1 £k569 110KV 78 B HEAR Ll 6062.2 0
B A o) LA L A ] 10kV5163i 1% £k 110KV P15 B HE A% H bl 6062.2 0
e i} o 5] 25 LA L A 10kV A 4535 110KV A A2 F i 10652.1 0
bt ] ==Y /N 10kViE Ik Tk £k836 35kV-4 B A FL 8954.7 0
S il R ) L it e A ] 10kv837iE b £k 35kV-E HLJE A% i il 9578.2 0
B A o) - LA LA ] 10kV A2k 534 110KV B A+ A% H 3 6703 0
e ] WA o) = LA L ] 10kV |- #8 £k 565 110KV 78 B HEAR Ll 6703 0
SEe ! A} oA i) 22 LA R A 10kV F 412894 35KV ] JEE A% il 5854.3 0
BT ) 5] 2 LA L A ] 10kV £ 3% Kl 2552 110KV A A2 F i 9578.2 0
bt il I ] 2 Lk e 4 ] 10KV Bk 2% £k 542 110kV A AR H 3l 10444.3 0
B oA i 2 EL it B 0 ) 10kVAEFH4: 826 35KV HE AR HA il 5369.4 0
bt il I ] 2 Lk e 4 ] 10KV ¥ )5 £k 857 35KV Ui AR FA i 10444.3 0
BT o 5] 2 LA L A ] 10kViE 7R Tk k868 35kV AL 703 i il 6235.4 0
BT A i) - LA L A ] 10kV PHP% £ 885 35KV FH B A% F b 5456 0
beer AT} A [ L it e A 10k Vi A1 £k 5509 110KV A7 ] 28 F i 4936.3 0
BT oA i) 2 L 0 ) 10kV 7R i ;803 35KV I 5% 1AL H v 9578.2 0
BT I B ELfik F 2 ] 10kV536H/LiH 4k 110KV B A A2 F i 6339.3 650.04
B T W 55 LA A ] 10kV 504 #2454k 110KV e A A2 Hi 5109.5 659.7
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BT W B LA A ] 10kV5801 |- g £ 110KV A Z2A] AR Ll 3983.7 948.86
BT W 5 B v 2 ] 10kV/ 5343 % 2% 110KV 1 A+ A2 H v 3966.4 1720.41
ez i} W = B A 4 ] 10kV/502)5 55 1T [ £& 110KV Fi A A% H 3 6062.2 602.84
B W B LAk H 2\ 10kV5809 F S £k 110KV B2 55 T A% Ly 7707.6 867.98
BT W 5B L ] 10kV8735 -2k 35KV BE AR i b 4936.3 456.84
B W B LAk H 2\ 10KV/5817E 5 T £& 110KV B2 55 T A% Ly 5802.4 777.72
BT W B LA A ] 10kV854 K HL 2% 35KV i 7 A% L il 10478.9 832.32
BT W 5 B v 2\ ] 10kV813- 3 2k 35KV 8 % T A% Ha 3 3966.4 29.32

BT W 5 EL A L ] 10kV524 K f 2 110KV A A2 FiL 3 6581.8 1444.24
BT W 5 B v 2\ ] 10kV879— 3 JiK £k 35KV & B AR H il 4070.3 459.84
S i W 5= B 0 ] 10kV8017 7R £k 35KV & A8 H ik 6062.2 562.36
BT W 5 B v 2\ ] 10kV5014F 5% [114; 110KV & AL H i 4849.7 643.96
BT W B LA A ] 10kV8157 1] 2 35KV A8 ZK IR A% H b 3966.4 45.72

i W B LAk H 2\ 10kV5167k - 2k 110KV & AL H i 5802.4 846.02
S il ] ) 5 EL A F 0 ] 10kV 87435 H 2§ 35KV & B AR H il 8712.2 202.96
e A} W 5 EL A L2 ] 10kV 8022774 ¥ £ 35kV & A% FL ik 10444.3 544.64
B I B ELfik F 2 ] 10kV515 7R 7K 2k 110kV & F 22 H i 5802.4 1190.84
i W B LAk H 2\ 10kV5815BH -2k 110KV B2 55 T A% Ly 5542.6 657.88
BT W B LA A 10kV8144TiE 2k 35KV A8 ZK IR A% H b 3966.4 76.82

BT W 5 B v 2\ ] 10kV894 1t v & 35KV R U4 AR H vl 3966.4 487.32
b= i} 6] ) B L0t B 20 ] 10kV523f [X T [H14; 110kV & 5748 3 4936.3 1570.04
BT W 5 B v 2\ ] 10kV5333 T 2% 110KV 1 A+ A2 H v 4070.3 1966.44
ISR ] W 5 LA H 0 ] 10kv5803 TV T £ 110KV 2 S5 AT AR Ha 4070.3 426.44
i W B LAk H 0 10kV5814H% Ji 2k 110KV B2 Z5 T A% Ly 5802.4 3736.02
BT W B LA A ] 10kV 8567 ik i £& 35KV i 7 A% F il 4070.3 548.14
i W B LAk H 0 10kV 512414 £k 110KV & 5 AR H i 5975.6 1183.98
BT [ ) 55 L it F 2 ] 10kv895 1Mk T [k 35KV B I AR F b 5802.4 495.17
i W B LAk H 0 10kV 847 Hif £k 35KV AZ AR H, vl 3966.4 35.22
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S i W 5= B 0 ] 10kV 80161 £k 35KV & A8 H ik 6062.2 986.26
ST ERERERE N 10kV529 T IT 1] £k 110kV & & A8 Bk 3966.4 216.02
BT W B LA A ] 10kV 8184k 5% 1 £& 35KV A8 ZK IR A% H b 3966.4 44.52
ST WX B LAt N ] 10kv5811 Tk 1T £k 110KV B S A% HA 3 10478.9 923.92
BT W B LA A ] 10kV843 71 I 2 35KV A2 A% Fe il 3966.4 223.92
B W B LAk H 2\ 10kV 80277 B £k 35KV R U4 AR H vl 6928.2 2078.96
BT W B LA A ] 10kV844{F- 5 A5 4k 35KV A2 A% Fe il 4070.3 255.54
B W B LAk H 2\ 10kv876 Tk 2k 35k V& B AR H il 4113.6 456.78
BT W) 5 LA A ] 10kV885 L £k 35KV R AL H b 6703 1248.5
BT W 5 B v 2\ ] 10kV819% 74 2k 35KV 8 % T A% Ha 3 3966.4 148.32
S i ] ) 5 EL A F 0 ] 10kv849dl 111 i £k 35KV A2 A% FE il 4797.8 257.94
i W B LAk H 2\ 10kV 5197 1 £k 110KV & AL H i 4070.3 385.04
BT W B LA A ] 10kV 804 I FIT £& 35KV B I AR F, b 3966.4 771.52
i W B LAk H 2\ 10kV5813iH 7K 2k 110KV B2 Z5 T A% Ly 7378.5 493.4
S il W 5= B 0 ] 10kV8015H: L 2k 35KV & AL H ik 6703 659.2
BT W 5 B v 2\ ] 10kV/538% {5 2k 110KV 1 A+ A2 H b 5196.2 1042.26
S i WA 5= LA E N ] 10kV 80195 L £k 35KV & AL H ik 5196.2 304.86
BT W 5 B v 2\ ] 10kV5802)& 3 2§ 110KV B2 55 T A% Ly 5196.2 380.66
BT [ [ 55 Lt H 2 ] 10kV 80147 £k 35KV £ T4 HL il 6408.6 41.38
BT W 5 B v 2\ ] 10kV8023 7t A 2k 35KV & 748 L il 10444.3 266.44
BT W B L ] 10kV/528+ Jii £ 110kV & 5748 3 5802.4 675.62
BT W 5 B v 2\ ] 10kV 5273 K 2% 110KV 1 A+ A2 H v 4399.4 2545.32
b= i} W 5 LA A ] 10kV8027z | £k 35KV [ AL H b 2598.1 1242.38
BT W 5 B v 2\ ] 10kV/529775 [ 2k 110KV 1 A+ A2 H v 4070.3 1321.64
b= i} W 5 LA A ] 10kV888JY 3 FE 2k 35KV [ AL H b 5802.4 810.02
IR ] X 5 EL A E 0 ] 10k V 884/ il £k 35KV R IR A% L il 6581.8 450.74
BT B o =B it i ] 10kV893fi J1 £k 35KV B U5 AR HA il 5109.5 1291.2
BT [ ) 2 L4t B 0 ] 10kV8875: K £k 35KV [T AL H b 9405 1454.5
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B & i Fig Bt AT Y N & R %ﬁ%@%/ﬁzj:fﬁh%ﬁ% ;%g
ez i} W = B A 4 ] 10kV/50344k i 1T [ £& 110KV Fi A A% H 3 3966.4 1647.62
IR EER =X =/ 10kV889K i £k 35KV PR AL Ha vl 6581.8 968.34
BT [ [ 55 L it H 2 ] 10kv8s57 Tk 2k 35KV i 7 A% L il 4936.3 0

BT W 5 B v 2 ] 10kv8018 T Mk 2k 35KV & 48 il 6703 0

BT W 5B L ] 10kV537 K VELL 110k V P A A8 FiL iy 6928.2 0

BN T W 55 LA A\ ] 10kV/539)7 5 2k 110KV e A A2 Hi 6062.2 0

BT W 5 EL A L ] 10kV505%5 Il 0 2k 110k V P A A8 FiL 3y 6893.6 0

bz} 4] W= B AL A ] 10kV803 G 1] 2% 35KV R 78 F b 6581.8 0

BT B o =B it i ] 10kV801 7 H £k 35KV B AR L il 10201.8 0

s WA 2 EL AL L A ) 10kV {51k £ 887 35KV 5 HEAZ H b 2598.1 1424.78
e ] oA 3y 24 LA v A 10kV /)N £k 899 35KV /) 35 A% F il 6339.3 404.94
B W 2 B A L A ) 10kV Ji] i £ 814 35KV DAL H b 6339.3 1127.84
e ] WA 3y 24 LA v A ] 10kV824 = Ji £ 35KV = 5% A% L il 5802.4 1093.02
B I o 22 L4t R 2 ) 10kV/ 8831 g £k 35KV 5 HEAZ H bl 9526.3 1613.94
e ] WA 35 4% A3t H 0 ) 10kV 8444 FR 2% 35KV A AR FE il 2598.1 1604.58
B W 2 B L A ) 10k V3, F £k 501 110KV JH A2 Hi 2598.1 1751.98
b= i} [E] 4%) 7 28 A3t ol 20 ] 10kV 4k £k 889 35KV {5 HE AR H, b 10911.9 2047.62
BT W 2 B L A ) 10k VI 74 £ 507 110KV JH A2 Hi i 2598.1 911.98
BT WA 3y 24 LA v A 10kV i 5 4 866 35KV 53 AR L il 7707.6 906.18
BT W 2 B L A ) 10k VR /i £ 869 35KV IR HE AL b 7707.6 759.98
BT WA 3y 24 LA v A 10kV R Jb £k 867 35KV 53 B AR L il 10392.3 826.94
bt il ) 2 LAk P 0 ] 10kV H 752k 8304 35KV 7 A2 AR L i 8313.8 705.14
b= i} [E] 4] 7 28 L A3 vl 2 ) 10kV A 75 £k 848 35KV AL F b 5802.4 325.22
BT W 2 B A L A 10kV 7R 7K £: 8014 35KV BH A% H 3 6581.8 615.44
BT W 2 EL A L 2 ] 10kV 75 4= £k 8306 35KV il A2 AR HA il 6928.2 2246.16
BT W 2 B L A 10kV 1t £ 802 35KV 5 HEAZ H b 2598.1 2070.18
BT WA 3y 24 LA v A ) 10kV5917: 3 T £k 110KV i #1428 F i 8712.2 846.36
b At} W7 22 L A LA ] 10kV i 5k £k 5404 110KVl 5 A8 Hi 5802.4 909.77
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Fr @ iR Bt A F 2 8% 24 TR i R EL gﬁ%g%/ﬁ,ffﬂﬁgﬁ g%g
beagr Rt} oA 3y 24 LA v A ] 10kV /5 i £k 857 35KV /3 %2 A% Ha bl 6339.3 815.89
bee! Rt} W T 4 Bl L A ] 10kV8005°F- J5 £k 35KV it Sk Ha 3l 10911.9 96.62

beegr Rt} oA 3y 24 LA v A ] 10k Vi 12k 513 110KV 25 M| 75 HL i 10911.9 1930.01
bee! Rt} W T 48 Bl L A ] 10kV /5 PH £k 856 35KV /7 7% H il 5802.4 1113.02
beegr Rt} IR 397 4 LAt v ) 10kVHE B HE£k5306 110KV B AR H 3l 6928.2 618.46
bee! Rt} WA 2 EL AL L A ) 10kV859 1 2% 35KV /5 %2 7% HL il 6755 716.1

beegr Rt} oA 3y 24 LA v A ] 10kV /Mt £k 895 35KV /)N S A HA il 6235.4 633.32
bee! Rt} W T 48 Bl L A ] 10kV Ji7 H £k 5405 110KV A SR AL H 5802.4 512.72
beegr Rt} WA BT 4 Lt LA ] 10kV5303 74 FHE 2k 110KV ¥ 5 A8 H i 2598.1 657.58
bt ] ) 2 LAt P 0 ] 10kV5321 78 4 £ 110KV 3 H AR HL il 11518.1 1456.78
beagr Rt} oA 3y 24 LA v A 10kV /3 3 4854 35KV /3 %2 A% Ha il 2598.1 672.28
bt ] ) 3 2 LAk P 0 ) 10KV & % £: 5301 110KV 3 S AR H il 10911.9 982.82
beagr Rt} (] [0 357 24 EL it v 0 ) 10kV /)N 712896 35KV /)N S A% HA il 10392.3 694.24
bee! Rt} W T 4 Bl L A ] 10kV5243, = 2 110KV % JH AL H 3 10911.9 830.02
beagr Rt} oA 3y 24 LA v A ] 10kV I P £k 512 110KV 25 M| 75 H i 6062.2 509.96
bee! Rt} WA 2 EL AL L A ) 10kV853 Jj 7R 2k 35KV /5 %2 7% HL il 5196.2 652.86
beagr Rt} IR 97 4 LAt v ) 10kV JiR Fh 2k 5407 110KV SR AR H 3l 2598.1 931.98
bee! Rt} WA 2 EL AL L A ) 10kV {5 )it £ 886 35KV 43 A% HiL il 10911.9 310.62
beagr Rt} WA 3y 24 LA v A 10kvkik £k 863 35KV SR B AR H il 9526.3 1007.62
bee! Rt} WA 2 EL AL L A ) 10kV/{ 52818 35KV e % A% L il 2598.1 899.17
BT [ oA 37 22 L {3t R 20 ] 10kv8168k) £k 35KV B AR HA il 5196.2 1348.16
bee! Rt} WA 2 EL AL L A ) 10kV508 117 Jif & 110KV £ 1] A% Ha 3 3810.5 1044

BT oA 3y 24 LA v A 10kV5224 F £ 110KV 25 M| 75 H i 2598.1 1187.98
bee! Rt} W T 48 Bl L A ] 10kV819F [ £k 35KV DA Ha il 2598.1 1477.38
beagr Rt} WA 3y 24 LA v A ) 10kV 7Kk F-£k 802 35KV B AR HA il 3966.4 275.12
bee! Rt} WA 2 EL AL L A ) 10kV 817/ 2k 35KV e % A% L il 10911.9 728.52
beagr Rt} WA BT 4 Lt LA ] 10kV3k [ 26 517 110KV 25 M| 745 H i 6062.2 2015.96
bee! Rt} WA 2 EL AL L A ) 10kV i 1 268303 35KV 7 22 A% L il 10911.9 1367.52
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BT oA 3y 24 LA v A ] 10kV = 7K 2801 35KV = 5% A% HL il 5369.4 464.82
s W 2 B A L 4 10kV = 242k 826 35KV =51 7% L il 5802.4 855.52
ez i} [E] 4%) 7 28 43t vl 20 ) 10kV 1 1% £k 846 35KV IR AL F b 10911.9 778.82
bt ] ) 2 LAk P 0 ) 10kV3FT K 11 255906 110kV R £ 48 HL vl 3464.1 1219.38
b)) WA 35 4% A3t H 0 ) 10kV 3 %225 8015 35kV/H 7% FeL il 6581.8 527.54
s WA 2 EL AL L A ) 10kV % 1285916 110KV i #132 H b 10911.9 1939.4
BT oA 3y 24 LA v A ] 10kV 7k F££ 8309 35KV ity 22 A% i il 9699.5 586.29
s W 2 B L 4 ) 10kV 5163 % 26 110KV £} A2 H b 10911.9 972.02
BT W 2 EL A L 2 ] 10kV8031F T £k 35KV B DA HA il 2598.1 1225.08
s W 2 B A L A ) 10kV LA £:894 35KV /)N 3% A% F b 5196.2 337.86
e ] [ [0 i ¢ EL At Rl 2 ) 10k V1% ¥ £ 843 35KV A AR FE il 7326.6 600.08
bt ] ) 3 2 LAk P 0 ) 10kV1b# 2k 5319 110KV 3 S AR H il 6928.2 484.76
e ] W 2 EL A L 4 ] 10kV8024% [ £ 35KV Jiti Sk AR H il 2598.1 734.73
B WA 2 EL AL L A ) 10kV X144 £k 8016 35kV/BH T A% L 3l 10911.9 1172.22
e ] WA 7 4 EL 3t e 0 ] 10kV 78 £k 8019 35KV PH 4% H ik 10911.9 1875.27
B W 2 B L A ) 10kV51538 & 2% 110KV £} A2 H 3 2598.1 1649.98
e ] WA 3y 24 LA v A 10kV = £k 829 35KV = 5% A% HL il 5802.4 82.22
BT W 2 B L A ) 10kV Ji 3 £k 5408 110KV A SR A2 HL bl 2598.1 1671.18
BT WA 3y 24 LA v A 10k Vi 75 £k 5305 110KV ¥ 5 A8 H i 5196.2 559.04
BT W 2 B L A ) 10kV I X1| £ 865 35KV IR HE AL b 10565.5 1006.7
e i} WA 35 4% A H 0 ) 10kV I F £k 8307 35KV ity 22 A% F il 9526.3 488.84
BT W 2 B L A ) 10k V15 £k £ 805 35KV AR AL F bl 10392.3 0.04
b= i} oA 3557 44 LA F A ) 10kV % 1.4; 884 35KV {5 HE AR H, b 10911.9 0.02
BT W 2 B A L A 10kV Ik 847 35KV A% HEL il 2598.1 0
BT WA 3y 24 LA v A ) 10kV8025t 2 £k 35KV Sk A% F il 2598.1 0
BT W 2 B L A 10kV805HE F8 2k 35KV 5 AR L il 8313.8 0
BT WA 3y 24 LA v A ) 10kV = 9 £k 823 35KV = 5% A% HL il 6339.3 0
BT W 2 B L A 10kV i X1| £& 8308 35KV 7 22 A% L il 2598.1 0
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B & i FiE Bt AT Y N & R mﬁg%/ﬁ,j:fﬂﬁgi ;%g
ez i} W i 4 B A FL 4 ) 10kV 12k £ 849 35KV IR AL F b 2598.1 0

e At} W 2 B A L 4 10kV 7 52 £ 813 35KV % 2R H b 6339.3 0
BT W 2 EL A L 2 ] 10kV5908 L S £k 110kV R A1 48 FiL 3 8712.2 0
s W 2 B L 4 ) 10kV i 7K £ 509 110kV/ZE JH A% Hi ik 10392.3 0
BT W 2 EL A L 2 ] 10kV /)N 5K 26897 35KV /)N S A% HA il 5196.2 0
bt ] ) 2 LAk P 0 ) 10kV % 54k 8029 35k V5 Sk AR ik 2598.1 0
b)) WA 35 4% A3t H 0 ) 10kV5918M £k 110KV g #1:28 F i 5802.4 0
By W 2 B L 4 ) 10kV807:H I 2k 35KV 5 HEAZ H b 2598.1 0
BT I 7K % T AL LA ] 10kV5534% F# 2k 110kV ) =78 H b 4971 586.4
B IR 7K 5 i L B 10kV873/ &0 1 [mlZk 35KV 2 ik AR H il 6858.9 86.02
e ] W 7K BF T A L ] 10kV801ME iR 2k 35kV T 7K A% F il 10565.5 1625.1
BT WA 7K % T AL FEL 2 ) 10kV/5411 T fifi 3k 2% 110KV S 4+ 22 H b 6581.8 791.03
S i W) 7K 5% Tt EL A 7 10kv857t1 HL 2k 35kV T+ 2 A% L il 5196.2 991.66
i WA 7K 5 T AL B 10kV5311/ 2% 110KV 34 & A2 H ¥ 6581.8 352.99
BT I 7K % T AL LA ] 10kV859f% i £k 35kV T+ 2 A% L il 8660.3 12.74
BT WA 7K % T AL FEL 2 ) 10kV A £k 501 110kV 5 2278 Hi 6581.8 748.74
BT IR 7K 5% T AL FEL A ) 10kVIbF 4556 110KV = 4248 H i 8920.1 605.98
i WA 7K 5 i L B 10kV K3 2k 557 110KV = 478 H b 2598.1 655.18
e il W) 7K 5% Tt EL A 7 10kV57134 78 1 [1] 110KV AT BH A2 F i 6581.8 1712.94
IR ) 7K 5% T At EL A 7 10kV 80175 PHZk 35KV F HE AR H il 2598.1 1009.18
BT W 7K BF T A L ] 10kV 804 2 J] M { b T+ 4k 35KV 3 4 A% F uil 6581.8 1041.64
BT Wi T L A 10kv899 Tk £ 35KV I S A% H b 7707.6 854.38
BT W 7K BF T A L ] 10kV54187K Y £ 110kV 5 A A8 F 3 10565.5 1560.1
BT ] [0 7 5% 7 it F 28 ) 10kV805%t & % 35KV A AL H b 10565.5 613.08
BT IR 7K % T AL LA ] 10kV 80135 ¢ £ 35kV T+ 2 A% L il 6581.8 270.14
BT WA 7K % T AL FEL 2 ) 10kV869 T 1 £k 35KV A AL H b 6581.8 473.44
BT IR 7K 5% T AL FEL A ) 10kV 801 4 11l £k 35KV 2% )t A% F il 10565.5 837.5
BT WA 7K % T AL FEL 2 ) 10kV5706 7K 11 £& 110K VAT BH A2 H 3 6581.8 1201.84
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B & i FiE Bt AT Y N & R mﬁ@%/ﬁ,ffﬂﬁgé ;%g
BT FE] [0 7 5% 7 it F 2 ] 10kV/833 25yl ¥t g T2k 35KV 3 4 A% F uil 6581.8 1339.24
B IR 7K 5 i L B 10kV57124F:FH 1T =] 110K VAT BH A2 H 3l 10565.5 804.8

BT IR 7K 5% T AL EEL A ) 10kV825 % i+ £k 35KV /AR H i 6581.8 399.63
BT WA 7K % T AL FEL 2 ) 10k V50533 7 A Ml 25 110KV X 175 H 3 6858.9 784.02
BT I 7K % T AL LA ] 10kv853T £ £ 35kV T 2 A% L il 7707.6 1550.88
B WA 7K 5 i AL B2 10kV5715 % 3% T [A] 110K VAT BH A2 H 3 10565.5 2371.7
e il W 7 5 i A FL 2 10kV A £5 5023 110kV A% 51 4% H 3 7707.6 1035.98
B WA 7K 5 i L B 10kV54164h 7 2k 110KV S 4+ 22 H b 6581.8 1582.03
B3R WA 7K 5 T 3t B 10kV5421 N 2512k 110KV 5 £ 2% F i 10565.5 1181.3
B [ }A) 7 3 T it R 2 10kv54045 b3k 1T 2k 110KV S 4+ 22 H b 10565.5 1969.3
BT I 7K % T AL LA 7] 10kV8447T ik £k 35kV T 7K A% F il 4849.7 340.86
i WA 7K 5 T AL B 10kV503; B2k 110KV £ 248 H i 6581.8 341.73
e i} W 7 5 i A FL 2 10kV898 1 Ji £k 35KV I S AR H, b 6581.8 516.04
BT WA 7K 5 T AL B 10kVk T 1T =] 2k 811 35KV 2% )k A% R il 10565.5 1371.3
S il ) 7K 5% Tt EL A 7] 10kV5425%F % 2 110KV 5 A A% F i 6062.2 2285.16
B Wi T L A 10kV# [ £ 819 35KV F A% L il 7707.6 1012.78
e i} W 7K BF T A L A ] 10kVifi = 1 425402 110kV 5 A A8 F 3 10565.5 158.2

i WA 7K 5 i L B 10kV57114FFH T [7] 110K VAT BH A2 H 3l 10565.5 12315
BT W 7K BF T A L A ] 10kV 8037k i 2k 35KV U Sk A% FE il 10565.5 396.8

i WA 7K 5 i L B 10kV F 7R £k 558 110KV = 478 H b 8920.1 166.48
BT I 7K 5% T A LA ] 10kV/5051L 75 2% 110kV ) =78 H b 6581.8 286.94
BT WA 7K % T AL FEL 2 ) 10kv8e6t £k 35KV A AL H b 7707.6 1074.68
BT I 7K % T AL LA ] 10kV 5934 A1 2% 110KV AT1 7% H 3 6581.8 2381.38
IR W) 7K 5 T At EL A 7 10kV T 11 425718 110K VAT BH A2 H 3 7326.6 1927.88
b= i} W 7 5 i A FL 2 10kV 80214 X E £k 35KV I S AR H 3 7707.6 979.68
i IR 7K 5 i L B 10kV57095 Vi g T[] 110K VAT BH A2 H 3 10565.5 1072.1
b= i} W 7 5 i A FL 2 10kV804= % T4 35KV I S AR H b 6581.8 467.44
BT WA 7K T A LA ] 10kV897K KK £k 35KV Sk A% H il 7707.6 588.48
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BT FE] ) 7K 5% T it LA ) 10kV846 H 7 £ 35kV I 5K AR H, il 4849.7 395.66
s WA 7K T A LA ] 10kV8067H] < Kl 11 [m] 2k 35KV 2= )ik A% Ha il 10565.5 633.45
BT IR 7K 5% 7 4k FEL A 7 10kv848 |- 1) £ 35kV I 5K AR H, il 6581.8 1202.44
s WA 7K T A LA ] 10kV8563H ] £k 35kV T+ £ 7% Ha il 7707.6 1027.58
BT IR 7K 5% 7 4k LA 7 10kV5024 1t 2% 110KV XS HL 33 7707.6 320.98
s WA 7K T A LA ] 10kV8747i < Kl T [m]2k 35KV 2% )ik A% Ha il 6062.2 393.16
beegr Rt} ] A 7 5 Tt R A 10kV 8174 2k 35KV A% HeL il 5802.4 810.52
s WA 7K T A L A ] 10kV 8023, 7t ¢ 35KV 2% )ik A% Ha il 10565.5 858.4

BN T ) 7 5% T ik FL 2 ] 10kV 8155 SR 11 [Hl 2% 35KV 2 ik AR H il 10565.5 1020.5
s WA 7K T A LA ] 10kV8243F H 2k 35KV /NREAR FL 6581.8 975.02
BT IR 7K 5% 7 4t FEL A 7 10kV504 F ) 2% 110KV £ 4278 HL i 6581.8 1087.77
B WA 7K T A LA ] 10kV i £k 816 35kV AR H il 6581.8 439.64
BT IR 7K 5% 7 4k LA 7 10kV531647 Hf £k 110KV 3 75 FL i 7707.6 519.88
B WA 7K T A LA ] 10kV863JFk A 2k 35KV # A A% L il 10565.5 1068.6
BT ) 7 5% T ik FL 2 ] 10KV 7R 11 £k5403 110KV 5 A5 AR H 3l 10565.5 2266.8
B WA 7K T A LA ] 10kVif £ 858 35kV T+ 2 4% HL il 6581.8 508.23
% AiT) ) 7 % T Ak EL 2 ] 10k V805 1/t Jfi £k 35KV 2 ik AR H il 10565.5 1684.8
BT WA 7K T A LA ] 10kV53013% & 2k 110KV 2 5 A% H 3 4849.7 404.86
IE IR ) 7 5% T ik FL 2 ] 10kV3IR T T [F1£k804 35KV 2= ik AR H il 10565.5 2505.2
bee! Rt} W 7K B T 4 LA 10kV5322= X £k 110KV 2 5 A% H 3 6581.8 420.23
BT IR 7K 5% 7 4k LA 7 10kV805°1- 5 £k 35kV T~ 2 A% Ha il 6581.8 352.19
bee! Rt} W 7K B T 4 LA 10kv878 Mk el [X 12 35KV 2% )ik A% Ha il 8660.3 436.99
BT IR 7K 5% 7 4k LA 7 10kV5943H /K 1T 51 2 110KV X1 7E FL 3 10565.5 2201

bee! Rt} W 7K B T 4 LA 10kV 5 T £k 554 110KV = =78 Hi 3 2598.1 1222.73
BT FE] ) 7K 5% T it LA ] 10kV80LIZIE & 35KV EE A AR H il 7707.6 1103.58
BT WA 7K T A LA ] 10kV 806 A £ £k 35KV 3L AR Ha il 10565.5 608.4

BT IR 7K 5% 7 4k LA 7 10kv868%% T2 35KV A AR H il 5802.4 704.81
BT WA 7K T A LA ] 10kV5703 & 3 IV £k 110KV A FH AR H 3 10565.5 1884.9
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S i ] ) 7 5% T it B A 7] 10kV 807 £k 35KV 3 4 A% F uil 6581.8 1600.84
B IR 7K 5 i L B 10kV53027% 5 2% 110KV 3 & A2 H ¥ 5802.4 255.72
BT I 7K % T AL LA ] 10kv867 Tk £k 35KV # A A% il 7707.6 439.86
s WA 7K T A LA ] 10kV 5 A £ 502 110kV 5 278 Hi 6581.8 637.04
ez i} W 7 5 i A FL 2 10kV8941f I £ 35KV I S AR H 3 7707.6 460.68
B WA 7K 5 i AL B2 10kV5323k By 2k 110KV 34 & A2 H ¥ 5802.4 779.42
beer AT} ) 7K 5% Tt EL A 7] 10kV5717 & 3% 11 1] 110KV AT BH A2 F i 10565.5 2981.2
B WA 7K 5 i L B 10kV 57191t 20 7% el £k 110K VAT BH A2 H 3 6062.2 458.06
BT FE] [0 7 5% 7 it F 28 ] 10kv814 Tk 2k 35KV F HE AR H b 6581.8 668.14
B IR 7K 5 i L B 10kV 8027t i 2% 35KV /NEEAR F iy 6581.8 402.83
BT I 7K % T AL LA 7] 10kV57143 74 11 =] 110k VAT BH A2 F i 10565.5 858.9
i WA 7K 5 T AL B 10kV5315/ fE 2k 110KV 34 & A2 H ¥ 10565.5 377.7
e ] W 7K BF T A L ] 10kVFhE= 1T 225419 110kV 5 A A8 FiL 3y 10565.5 2436.3
i WA 7K 5 T AL B 10kV598 7% F- 2k 110KV B A1 AL H 8920.1 1370.98
BT I 7K % T AL LA ] 10kV57083% Vi 75 11 [] 110k VAT BH A2 F i 10565.5 1944.4
i WA 7K 5 T AL B 10kV 5099 1t Tk 2k 110KV B A1 AL H 3966.4 0.02
b= i} W 7 5 i A FL 2 10kV AL 1T 265021 110kV % 51 4% H 3 10565.5 0

S At} Wi T L A 10kV Tk 11 5] £ 5415 110kV A 22 H 4763.1 0
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